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AsTHEMYIBt =bcm L=178x2+18m=374.0m
AsHFt=bcm A=178.0%x0.55=97.9m2 VvV =97.9x0.05=4.89m3
FR#E VvV =178.0x0.55x0.825=280.76m3
HEEEBE A=178.0%x0.556=97.9m2
REW Vv=178.0x { (0.55x0.325) - (0.0625x0.06256x 7) } =29.63m3
RALV=178.0x0.55x0.2=19.58m3
FELTLS VvV =80.76— (19.58+0.9) =59.00m3
TIEE#H (RC—40) t =15cm A =178.0%x0.556=97.9m2
LrERRAE (M—30) t =12cm A =178.0%x0.55=97.9m2
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Asfift=3cm A=178.0x0.55=97.9m2

AsHft=3cm A=178.0x0.556=97.9m2 VvV =97.9x0.03=2.93m3
AsHFt=bcm A=178.0x0.60=106.8m2 V =106.8%x0.05=5.34m3
R#E Vv =178.0x0.55x0.02=1.95m3

FELTQLS V=19m3

TEEE A=178.0x1.15=204.7m2
AsfliZfEt=bcm A=178.0x1.15=204.7m2

=5cm L=374.0m

=97.9+97.9+106.8=302. 6m2
V =4.89+2.93+5.34=13.16m3

K#E VvV =280.76+1.95=82.71m3

EEEE A=97.9m2

RER V=29.63m3

WAL Vv=19.58m3

FEETWLS VvV =5900+1.95=60.95m3
TE®K#HE (RC—40) t =15cm A =97.9m2
LEE®HE (M—=30) t=12cm A=97.9m2
AsEiZEt=3cm A=97.9m2

THEEE A=204Tm2

As#iZt=5cm A=204.Tm2
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AsEHEMUBt =5cm L=2.5x2=50m
AsHifFt=5bcm A=25%x0.55=1.3Tm2
IR#E VvV =2.5x0.55x1.425=1.95m3
HEEEBEFE A=25x055=1.3Tm2

REW Vv=2.6x [ (0.55x0.325) - (0.0625%x0.0625x w) } =0.41m3
FRALV=25x055x0.8=1.1m3

FEELTRS Vv=1.95— (1.1+0.9) =0.72m3

TERE (RC—40) t=15cm A=2.5x0.55=1.3Tm2

V=1.37x0.05=0.068m3

LERRAE (M—30) t =12cm A=2.5x0.55=1.3Tm2
Asflift=3cm A=25%x055=1.3Tm2

AsHFt=3cm A=25x05=1.3Tm2 VvV=1.37x0.03=0.041m3
AsHFt=bcm A=25x060=1.5m2 V=1.5x0.05=0.075m3
R#E V=2.5x0.56x0.02=0.027m3

FELQLS V=002Tm3

FEBE A=25x1.15=28Tm2

AsfliZfEt=bcm A=25x1.15=2.8Tm2

SHERYIBt =5cm L =50m
A s A=1.37+1.37+1.5=4.24m2
V =0.068+0.041+0.075=0.18m3
K#E V=1.95+0.027=1.97m3
E@EE A=1.3Tm2

REH V=0.41m3
AL VvV=1.1m3
FEELTWS V=0.72+0.027=0.74m3
TE®KHE (RC—40) t =15cm A=1.3Tm2
LE®HE (M—=30) t =12cm A=1.3Tm2
Astitt=3cm A=1.3Tm2 # SM7EE FEEERKREKEMRREISH
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AsEHEMUB t =5cm L=88x2m=17.6m

AsHift=5cm A=818x055=484m2 V=4284x0.05=0.24m3
IR#E Vv =8.8x0.55%0.825=3.99m3

EmMEBEE A=88x0.556=4.84m2

REW Vv=8.8x [ (0.55x0.325) - (0.045x0.045%x ) } =1.51m3
ALV =828x0.55x02=0.96m3

FELTLS V=399— (0.96-0.9) =2.92m3

TERAE (RC—40) t =15cm A =8.8x0.55=4.84m2
A=8.8x0.55=4.84m2

x0
x0.556=4.84m2 VvV =4.84x0.03=0.14m3
x0.60=5.28m2 VvV =5.28x0.05=0.26m3
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ThEEE A=88x1.15=10.12m2
AsffiZfEt=bcm A=88x1.15=10.12m2

HERTE t =bcm L=17.6m
A st A=4.84+4.84+5 28=14.96m2
V =0.24+0.14+0.26=0. 64m 3

KiE V =3.99+0.096=4.08m3

EEEE A=484m2

REW V=15Im3

WAL Vv=096m3

HEELMS V=292+0.096=3.01m3
TE®KHE (RC—40) t =15cm A=4.84m2
LEE®HE (M—=30) t=12cm A=4.84m2
As#Et=3cm A=484m2

THEEE A=10.12m2

As#iEt=5cm A=10.12m2
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sHirt =5cm A=225x0.556=12.37Tm2 VvV =12.37x0.05=0.61m3

# V=22.5x0.55%x0.763=9.44m3
HmEBE A=22.5x0.55=12.37m2

#ER Vv=22.56x { (0.55%0.325) - (0.0315x0.0315x 7) } =3.95m3

Atv=225x0.55x0.2=2.4Tm3
XMy V=9.44— (2.47+0.9) =6.72m3

[ERAE (RC—40) t =15cm A =22.5%0.556=12.37Tm2

B (M—30) t=12cm A=22.5x0.55=12.37m2
sti¥t=3cm A=225x0.55=12.3Tm2

st =3cm A=225x0.55=12.37Tm2 VvV =12.37x0.03=0.37m3
st =bcm A=22.5%x0.60=13.5m2 VvV =13.5x0.05=0.67m3
# V=22.5%x0.55%0.02=0.24m3

£rms vV=024m3

[E®F A=22.5%x1.15=25.8Tm2

sHiEt=5cm A=225x1.15=25.87Tm2

SHERYIBTt =5cm L=450m
AsHBB A=12.37+12.37+13.5=238.24m2
V =0.61+0.37+0.67=1.65m3

K V =9.44+0.24=9.68m3

EEEBE A=12.3Tm2

RER V=39m3

AL V=24Tm3

HEELTWLS V=6.72+0.24=6.96m3
TE®KHE (RC—40) t =15cm A=12.3Tm2
LE®HE (M=30) t=12cm A=12.3Tm2
Astift=3cm A=12.3Tm2

TEEE A=258Tm2

As#Et=5cm A=25.8Tm2
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